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QUESTION 1

What is the App Connect Designer used for? 

A. An IBM App Connect offering to connect to applications like Salesforce without any coding. 

B. A tool to deploy applications that use IBM App Connect. 

C. An application tool to send alerts to Salesforce about applications running on JBM Cloud. 

D. An application monitoring tool to work with IBM Cloud. 

Correct Answer: A 

 

QUESTION 2

Which is an IBM Blockchain membership plan? 

A. Certify Plus 

B. Enterprise 

C. Beginner 

D. Premium 

Correct Answer: B 

 

QUESTION 3

Which tool uses a graphical flowchart tool to create automated processes that deploy, and uninstall applications? 

A. Mural 

B. Ionic 

C. IBM UrbanCode Deploy 

D. Artifactory 

Correct Answer: C 

 

QUESTION 4

What combines a fully-virtualized software-defined networking experience with superior isolation in the IBM public
cloud? 

A. IBM Cloud Virtualization 
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B. IBM Virtual Private Cloud 

C. IBM Kubernetes Service 

D. IBM Private Cloud Virtualization 

Correct Answer: D 

 

QUESTION 5

Which cloud approach offers the greatest resistance to vendor lack-in? 

A. Serverless frameworks 

B. Utilizing SaaS 

C. A multi-cloud environment 

D. Cloud native architecture 

Correct Answer: D 
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